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ahh Kok B 7 ffi s Y
Sy Y 5% % (e eBM) | e | e | em | EH | GEAD
30100 VI A ’ 60 4, 266 86 65 65 1M 604
30300 AB 21 1, 134 54 54 54| B 21kg
31100 A% 40 216 54 54 54 B 4 — A
31200 L 119 11 11 11| BH 113
33500 Y7 ¥%E 216 7 11 11 W 164%
32600 &% 551 32 32 32| BPY 1758
31700 F ¢ 50 3,240 648 648 648 5514 54— %
31800 |9 HAR 1 2,846 54 54 38/ B 563K
31800 13 ) hAK 16 4,428 59 54 54 B 80%%
31900 ¥ 5 972 324 108 108 A 5kg
35220 XM ERWD. 1 389 432 432 432\ 5P Ikg
35300 E—% 3 3,024 1,080 1,080 1,080 kP 3kg
35308 RS v TEIALD 2,052 270 270 173/ B 8kg
36200 f5$h% 20 2, 808 140 140 140 5 20kg
36260 I Lip7=7 50 7,452 1,620 1,512 1,296 B 57— %
33400 L& % 7 1,210 86 8 86 kI 144
33200 HYT7FU— 5 788 108 108 11 &H LOf#
33300 Fmyay— 5 778 86 22 22| B 1818
33303 AF 4w/ Tyl 1 65 11 11 11 BN 64%
38100 A LU it 4 2,074 648 540 540 Py dkg
41320 AW | 46 1,242 54 54 54 kB 234%
41390 IFAMA 70 10,260 378 216 216 F5 35% » |
46108 SMFONE | 510 60,404 400 378 270 B 169/% > 7
21060 Ahvs ] 7,101 50 50 40 B 1604
53456 7= 72 ik 18 1, 966 108 108 108] b P 18kg
30100 7w A 242 12,301 176 54| 43 EIRER 210K
30300 A% L 130 18,468 1,620 1,296 56| RS 137 —2
31100 3 | 30 3,024 1,512]  1,512] L512WE  |25—=
31200 LI 4 108 5 5 5mRE |20
33703 G 2 972 972 972 972 & 15— 2
33810 HHER 8 3,888 1,944  1,944| 1,944 EIRE 27— A
33810 FHEE 4 © 864] 43 43| 43\ RS 2088
Y5005 4 k3 A 10 3,132) 1,566 1,566 1,566 A%y 247 — A
32600 #F4 4 270 22 5 5|4 204%
31950 HAX B s 30 5,616 648 540 540 FEIR 1047 — 2
31900 H¥ 4 2,268 324 324 324 BER B 73 (5008)
34300 72 ) I 15,228]  3,132]  3,132]  2,916/fEA 54—
34300 Y 2L 10 4,320 2,160 2,160 2, 160|fEA 24— 2
34400 Rk ’ 10 5,022 810 594 378 | fE A 104 — 2
34100 HAL - 55 14,688 1,620 1,620 972 | FEIR B 1147 —%
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24 i A £
a—F | LhES | PR (kg) &% (1) = g el P (BAfr)
34100 EK | 2L 30 10,368)  1,728]  1,728) 1,728 &M 64— =
- ’ L 10 1,752) 2,376 2,376  2,376|EWE |24 —=x
. 1 30 7,128]  2,376]  2,376] 2,376/ Ax L= |34 —=%
34500 t:v/ o 2 1,426 65 65 65| Es 2048
34520 FRE—— > A L 4| 3,672|  1,836] 1,836] 1,836 &I 24— 2
36200 BEHE B & 60 2, 808 864 324 324 FEIR B 64— %
' ' 220 28,404 2,700] 2,484 2,484/dtiEE 115 —=
| 7 | 6 1L,426) 119 119 Ln9[ERE |12
33420 ZU—2U—TLHR | L 3] 1,404)  1,404] 1,404 14048 = 15—=
33600 S& Y 1 162 32 32 2B 54%
33200 HVT7FU— 2 346 86 86|  86|fEVE  |4fE
38100 ELWVif lc 8 2,160 432 216 216/EMF 84 —=x
31500 /M3 a 4] 2,484  2,484) 2,484 2,484|@RE |15 —=x
31500 /A 4 324 18] 16 16 208
32500 ZoIF 2 1, 944 972 972 972 K4y 24— 2
37560 B35 1 1,296 216 216 216 K4y 6,3y 7
40100 Jm A | 20 12,528 6,264 6,264, 6,264 FEIR 24 —R
41470 & pinh - 2L 6 3,240 108 108 108|HE)EE  |308%
42830 HLU = ' B 70, 39,312 5,616| 5616] 5 616 Hi 14— 2
46109 Kokl K 6 3,974 216 216 173 BEIR B 20/ 7
Y4001 JR=E| A 2L 5 3,780 756 756 756 IR 51
49100 /3FF 120 14,904 1,944] 1,296 1,296 7 ¢ U EL |10/ —=%
| |
49200 SA LTy T o 1, 069 119 119 119/ 7 1 U > |of
o R |
aat 1,722] 358, 681 | |



